H & 0l & AHS B Ml A

A B2
a2
s St A2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFu 82,062,643 82,749,875 ANBB7,232
= 38,240
Albl 87,300
Tl 81,937,103
&2el 125,610 2,000 123,610
Sdst "2 125,610 2,000 123,610
dHael 24 125,610 2,000 123,610
308 AXIMSOIA 125,610 0 125,610
14 IR 83 125,610 0 125,610
OHE - 85 U S=ZHI(H9Sl BRSAIX
ZHEN) 125,610,000& 125,610
YA 2ot 5,907,442 6,651,502 AT744,060
= 38,240
Albl 87,300
Tl 5,781,902
ANEse gy 3,932,143 3,818,566 113,577
QIARZe] 62,993 61,691 1,302
201 er23 | 28,100 28,100 0
01 At2t2ltl 28,100 28,100 0
OClArZel AAL M2 2,040
g8 € 4% 2
6,800 *3000H 2,040
O2AIHRE dIioIMEeE &
190,000 4 H 760
OLIANZtA ARES S 3,800,000& 3,800
OLIAIRIEE MM 1,000,000& 1,000
OdllsFasdd A23H| 4,000
SRESs # 223
20,000 200K 4,000
OgJINESRE MWE HE=g
1,100,000& 153 16,500
203 HR=AH] 3,870 3,386 484
03 A= LR F&IH| 3,870 3,386 484
OLIAF=REe =a 1,800, 0002 *90% 1,620
OXEYR AT 2,500,000 *90% 2,250
308 AHXIHMSO0IA 31,010 30,205 805
13 SI12S0He 4 A AS A 31,010 30,205 805
OXMH BEEXLOIMNZEAAE S22
S 31,010,000& 31,010
403 MR HHMSAH=01H 13 13
02 B2 S0t 2 S A A 13 13
OXAIU HEXSAANEZAAY Q12 S
=S 13,0002 13
A wsJg M3 346,100 347,528 1,428
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A B2
Hu: simolet 243
el AEsE g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 329,238 239,580 89,658
ONFBS K0} LA
329,238,000& 329,238
309 HES 1,000 1,000 0
02 SRYHSASHILUNES 1,000 1,000 0
SELERVIGESENISE
1,000,000& 1,000
401 Al HIZL S 0HYI 55,000 55,000
01 Al&HI 55,000 55,000
OFMS MARNY 222
55,000,000 55,000
405 AtatE = 5,000 5,000
01 ML ESF SHI 5,000 5,000
OSMS NASHA 2ETY
5,000,000 5,000
HlattHHl & 2Al 81,030 79,8% 1,134
201 2= 11,030 9,8% 1,134
01 At22t2l] 11,030 9.8% 1,134
Otlaitidl=d 29 200,000 200
OSXH= HadAdad g4I
9,000 +870 7,830
OXHMYIACHHl HEAM HIZ
3,000,000 3,000
308 AFAIEHMSOIE 70,000 70,000
2 0bZSd NS AEX 70,000 70,000
ooglzsd A& 70,000
tHlzZzsdXaE=s 45,000,000 45,000
gz Edd nEEd AH
500,0002 502 25,000
AXHE & 1,702,469 2,575,446 N872,977
[ 38,240
AlHI 87,300
Tl 1,576,929
A2SAE 2OUI0IH N& - |4 80,410 79,402 1,008
[ 33,370
-l 47,040
307 @120l & 80,410 79,402 1,008
[ 33,370
Tl 47,040
05 2IR”tRIE = 80,410 79,402 1,008
OX2SAt ZLIUIOIE 2124H](2F)
80,410,000 80,410
s 33,370
Tl 47,040




A B2
Hu: simolat 243
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NASAHIE ReE4SA 2124H] X2 39,399 39,422 A23
AlHI 13,800
Tl 25,599
307 el2to| & 39,399 39,422 A23
AltI 13,800
-l 25,599
05 212t =S 39,399 39,422 VAVA
ORASAIE STULT 21218](18))
39,399,000& 39,399
Albl 13,800
- 25,599
AESAHE 29 K& 69,241 75,125 Ab,884
AlHI 22,100
Tl 47,141
307 elztol & 69,241 75,125 Ab,884
AltI 22,100
-l 47,141
05 212t =S 69,241 75,125 Ab,884
OXESAHE 22! X
32,941,000& 32,941
Altl 8,000
Tl 24,941
OXASAHEE Z278 2| X2
36,300,000& 36,300
AlHI 14,100
-l 22,200
AESAHAE 215 X3 91,503 93,430 A1,927
307 @20l & 91,503 93,430 A1,927
05 git?(& = 91,503 93,430 A1,927
OXHSAHIE QI3 eldd] X1 (2Y)
91,503,000 91,503
d= S ANESA B8 MHIA X~ 10,128 10,128 0
s 4,870
Tl 5,258
307 elztol & 10,128 10,128 0
= 4,870
Tl 5,258
05 212t =S 10,128 10,128 0
OXESAA 285 K&
10,128,000 10,128
[ 4,870
Tl 5,258
MEN2ERS Hotas 6,550 6,550 0
Alt] 3,400




=N B2
e

3 HZARE A3l
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 3,150
201 er23y| 6,550 6,550 0
AlHI 3,400
-l 3,180
01 AtR2tc|Hl 6,550 6,550 0
OdsZd BMTHX Hat & ES
3,400,000 3,400
Alt] 3,400
Ostd38Hl =23+ S 3,150,000& 3,180
FUSE 2l 162,055 133,977 28,078
201 Ler23 | 118,301 105,931 12,370
01 At2t2ltl 114,45 102,040 12,416
OXDISEE HRARE 4,29
 FOISESZHOIME AEIH
14,0002 ¥ 105+ 1600 S 2,240
HHEX(FLUSES M=2 JIM)
6,000 * 151 * 1600 = 1,440
BXE NSSE T M2I2 HE
88,0002 +7H= 616
O=FLUSE HUARSE 17,600
SES==t=IN
35,0002+ 102t A% 16 S 5.600
Sz=u3s sUIEX
250,000 x3)H* 160 = 12,000
OFuSES 23
4,7503 %1,4000K* 122 79,800
Olcxos=S w2 5000212, 3600} 11,800
OX0IS= 2z 292 M
30,000& * 1674 S22 960
2 352484l 3,845 3,891 N6
OFDISE YLEYN PSR
2,525,000& 2,525
OFLUSESLE Rus
5,000 x228t Ax 123 1,320
308 AFAIEHMSOIE 28,046 28,046
13 SI[2S0He & A AS A 28,046 28,046
ORHDH FUSSIBAAY 2
28,046,000 28,046
405 AHaHE = 16,708 0 16,708
01 ML ESFSHI 15,708 0 15,708
Ot A2s A= =H2)| 28
990,000 *9CH 8,910
O XIOI0INAE =D 2
484,000 = 12CH 5,808
OKW 221X 7 55,000 * 1874 990
MOFE X2l AIREXeIE 21A4H] XI& 32,000 32,000 0




2A: B2
Hu: simolat 243
ol IXEE e (SH9 H2)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
Albl 16,000
| 16,000
307 2I2t01 ™ 32,000 32,000 0
AlHI 16,000
] 16,000
03 QX BE2IHIE X 32,000 32,000 0
OMUOIESXI3 AtIRE=x0l=d oIHH| X
32,000,000 32,000
AlHI 16,000
i 16,000
IR RS 50,579 44,270 6,309
203 YR =&IH| 6,300 5,670 630
03 AMBFR AR =EIH| 6,300 5,670 630
OAM3IEIE HEFX 7,000,000& *90% 6,300
301 LEBEZ 10,679 5,000 5,679
11 HALAHI XA Z 10,679 5,000 5,679
O&E= MOISXI=Xthsl &4 ofd]
200,000& *25H 5,000
OMBOIEXNIEX S =0{H|
145,600& *39H 5,679
307 2I2t01 ™ 33,600 33,600
02 CIZHEAAMHE R 24,000 24,000
OFOIEN X MES At
6,000,000 *43] 24,000
05 IZHE 2 9,600 9,600 0
OMOISss2us(182Y)
105,0003 *4H 420
OMDISEs2n=(283Y)
204,000 459 9,180
MOIE22S 243 XId 83,732 88,732 0
307 2I2t01™ 83,732 83,732
02 CIZHEAAMHE R 47,372 47,372
OMitS2=s 435 XIH
47,372,000& 47,372
03 PIZIHXBE2IHIE L 41,360 41,360 0
OMGOtEX e 244l X
41,360,000& 41,360
HiEda|les 2435 A& 62,600 62,600 0
Albl 16,000
| 46,600
307 2I2t01 ™ 62,600 62,600 0
AlHI 16,000
] 46,600
02 QIZHEAAHE R 30,600 30,600 0




A B2
Hu: simolat 243
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oott=daizs gdat X3
30,600,000& 30,600
03 2RI HEE2SHIE X 32,000 32,000 0
Ot2g2sl 23| X2
32,000,000& 32,000
AltI 16,000
Tl 16,000
AREHY =4 X2 59,700 59,700 0
AlH] 16,000
T4l 43,700
201 Ler23| 2,400 2,400
2 s5=34l 2,400 2,400
OHMAIRYE 5523 2,400
xel sl 50,0002 6 300
= 175,000« 128 2,100
307 elztol & 57,300 57,300 0
Alt] 16,000
Tl 41,300
02 2B YA E X 25,300 25,300 0
OM=EHY 54 X2 25,300,000& 25,300
03 2RI HEE=2SHIE X 32,000 32,000 0
OXzEHdX el 234 A&
32,000,000 32,000
AltI 16,000
Tl 16,000
QIIEHH slgs N 53,000 61,600 28,600
307 glztol & 53,000 61,600 28,600
02 LB HAHE L 53,000 61,600 /8,600
ORIRICH BUEE X8
53,000,000& 53,000
HEl HIoHA XI& A 12,000 12,000
307 gl2to| & 12,000 12,000
02 2B YAIHE A 12,000 12,000
Ol LA XIZAHS 12,000,000 12,000
329 682,159 631,412 50,747
101 e124d| 18,925 18,538 387
M ORNZZ2NSE S 18,925 18,538 387
OR&4 JIZHMZ22 X 18,925
QlAbI (=g ZF)
89,7762 x282 6 15,083
A2 22+g
16,8333 *13AI2H+6E 1,313
HE S| 300,000& 300
- SXEE 300,000 300
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A B2
3 HZARE A3l
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JEUES A X 4,700 4,700
201 er23 | 2,900 2,900
01 At2teltl 2,900 2,900
OUHE HEUHES AL AAZEH|
2,000,000& 2,000
OUUE JEUEE A 2FHE SAHI
9,000 +100& 900
301 2eEN= 1,800 1,800
11 AALEEIXIE S 1,800 1,800
OUl=E ZUESE AL N2 SAL SA
af 9,000& 200 1,800
=R S 235t 272,830 257,490 15,340
FAUANXE =29 XA 147,930 149,090 1,160
201 er23y| 146,450 147,610 21,160
01 AtR2t2|HI 146,450 147,610 A1,160
O=2XXe 28 DEAE
113,500,000& 113,500
O=CIXtxIe S22 OISAtY dugE3)
4,000,000 4,000
OAlot F=BIXFXICHS! 23,760,000 23,760
OFPINRIANTEOIS 319 &AL
20,0002 x16H* 122 3,840
O=2XXIE 29 Ttz M=
1,350,000 1,350
203 HR=H] 1,080 1,080
03 A=A R =NH] 1,080 1,080
OF8XtXla FRAT
1,200, 0002 *90% 1,080
301 EtE NS 400 400
11 #AIAHIXI 2= 400 400
O=2UXXIel O=SAE dt&tHs EX2Y
400,000& 400
FEXX = 2& 50,900 34,400 16,500
201 =3 40,000 28,000 12,000
01 At2t2lt] 40,000 28,000 12,000
O&==RUXNXIS S &It & AS 13,000
ots K& 5,000,000 +27H 2= 10,000
S At 3,000,000& 3,000
O=2XAl H=0te =l
27,000,000 27,000
303 Zaf= 10,900 6,400 4,500
01 Za= 10,900 6,400 4,500
OF2 XX H20tE Al&HEAI) 3,700
e 500,000 *1H 500
P 300,000 ~2H 600
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A800
AB00

800

800
7,291
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7,291
7,291
7,291

HMEE
Ofl &k2h

74,000
50,000
36,000
14,000
24,000
24,000
54,225
54,225
54,225
53,325
53,325

ol vy

2,600
7,200
2,000
2,000
1,600
1,600
74,000
49,200

36,000

2,000
4,000
30,000
13,200
13,200
24,800
800
800
24,000
24,000
61,516
61,516
61,516
60,616
60,616

5,400
3,000

12,016
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S LRE-L
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500,000 4K
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